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Differentially Private Heavy Hitter Problem

1. An embarrassing question 2. Toss a coin 3. With many people 4. Good estimation
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Data from Arizona Republic/Morrison/Cronkite News poll from Oct. 10-15, 2016.
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Differential privacy
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HieProd | 19.8(1.2):2.9(0.1) | 1.7(0.9) ; 0.4(0.2)
SPM | 0.3(0.6):0.1(0.1) | 0.0(0.0) ; 0.0(0.0)
2 | TterProd | 20.1(1.1):2.9(0.1) | 2.1(0.7); 0.5(0.2)
HASH | 0.0(0.0);0.0(0.0) | 0.0(0.0):0.0(0.0)
SimHash || 16.0(1.2) ; 2.6(0.1) | 0.6(0.5) ; 0.1(0.1)
HieProd || 63.4(2.6) ; 5.1(0.1) | 24.9(0.7) ; 3.4(0.1)
> Good for small domain SPM | 11.8(1.0);2.1(0.1) | 0.0(0.0) ; 0.0(0.0)
> Inefficient and inaccurate for large 4 | IterProd || 62.6(1.6) ;5.1(0.1) | 24.5(1.3) ; 3.3(0.1)
domain -> focus of this research HASH || 00(0.0) 00000 | 0.0(0.0) :0.0(0)
SimHash || 51.5(2.4) ; 4.7(0.1) | 21.8(1.3) ; 3.1(0.1)
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